S 6FE 6 H2H
XEXHEELER
BERZRE LK
SH6EE F1EMEFEME =mA
HELZER
(—me=3Et)
FHIERTOD%E 6, 570, 352FH
i IE % 97, 47 9FH
B 6, 667, 831FH
BAfT : FH
FHIERTODEE FHIEZE it
BEERES 6,570, 352 97, 479 6,667, 831
EREE 637,919 0 637,919
AR 44,110 0 44,110
RERER 5,517,105 93, 209 5,610,314
feEH 162,533 4,270 166, 803
BE X EE 31, 636 0 31, 636
EEFER 57,599 0 57,599
A R—VIRER 114, 565 0 114, 565
X E A 4,885 0 4,885
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No BB MEROE | WESE & % %
M%he | HEBE | HEEEDS | 1,463,368 93,209 | 1,556,577
|| BEY—C A e 114,028 68,370 | 182,398
5 g’%ﬁﬁ%i:a‘;‘ﬁ%ﬁéﬂ%i%?% 0 24, 839 24, 839
fBEH BN FH
No =t H FHIERTODEE FHIEZE it e &
g% | SHBE | HEERDL 148, 735 3,270 | 152,005
| | gt T SPSTRITE 0 3,270 3,270
gxihe | HEHe | sEESRS 12,258 1,000 | 13,258
TokyoAR—=Y I THEEE 0 1,000 1,000
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SHME6EE F1EMETFEME Kb

HERES
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B IERTODEE 26, 083, 298+H

i E % 101, 211F+H

&t 26, 184, 509+H
B TH

FHIERTOD%E FHIEZE it

HELZES 26,083, 298 101, 211 26, 184, 509
JEFEER 6, 066, 867 2,377 6, 069, 244
=Xre 3,222,073 6,000 3,228,073
RERER 11,867,085 84, 694 11,951,779
feER 658, 908 8, 140 667, 048
BB B 566, 506 0 566, 506
EEFEHR 1,530,279 0 1,530,279
AR—Y YRR 1,303,607 0 1,303,607
rh R X E A 867,973 0 867, 973
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HEE | HERKE | EXEE 973, 223 2,371 975, 600
1 | EERES 0 2,377 2,377
IR B TH
No s = FEIERTOZE FHIEZE &t 5 &
HEE | HERKE | AEXEE 600 6,000 6,600
[e5% x5 < b ars
| A O 0 6, 000 6, 000
REREHR BT TH
No & = FEIERTOFE FHIESE E 2
HEE | HERKE | AEXEE 10, 500 58,500 69, 000
[5%x5 < h7ars
1 A O 0 58, 500 58, 500
HELE | RERFTE | REASHREE| 8,350,991 26,194 | 8,377,185
| | REFRFIIB I 2RBE2LZ2NE 0 26,194 26,194
fEER BT FH
No ! = FHIERTODEE FHIE%E B
HEE | BERKE | EXEE 280, 639 1,000 281, 639
] | TOKYOARAR—=YSA 7HHE 0 1,000 1,000
HEE | HERKE | AEXEE 234,909 7, 140 242, 049
[e5% x5 < b sz
1 A O 0 7, 140 7, 140
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